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GSE/M-19 1415
ECONOMICS
Paper 11
Microeconomics
. Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 and 2 are

compulsory. ‘Attempt the remaining three questions,
selecting one question each from any three of four Units.
All questions carry equal marks.
FA U WA ® IW ATAQ | W FE@ 1 W 2
g & 1 T @ yEl @ fae er @ 6 R
foel @7 9 ¥ &-UE v 9T 0 wd v &
dqF w9 € |

(Compulsory Question) ( famd uvT)

I. A comb manufacturer employed labour and paid Rs. 55
as wages. He sold one comb for Rs. 5.

No. of Labour MPP
| 20
2 17
3 14
4 11
5 08
(-08/12)1.-1415 - IT.O.
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Now answer the following questions

(iv  Define the theory, with assumptions, on which this *

decision 1s based
(in  How many labourers should be employed by the
firm ? Explain with table’and diagram.
(iii) Explain, how factor price will be determined in the
industry 7
(iv) Give the crticisms of this theory. 4x4=16
vF F fam g sftw ®1 T9R w2E fEE W ? ad
wfq afi® 55 7 WA f A T ) AT T FH A S T

g q9a 7 |
saftat #it A wifaes
He EL e
| 20
2 17
3 14
4 1
3 08

Frfafan s # 3w A -

(1) mﬁm“ﬁmﬂﬁnﬁﬁmwﬁu&q
AfE 2|

(ii) tﬁﬁrﬁmﬁmqurqﬁaﬁmmmm'
U Ul o T s —
Fifem |
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() 3em % wp@ 51 Fn fam wsw A w0

=R

T

V) T8 WEgm # aengn ammn

2. (@) Choose the correet answer -

qﬁﬁmﬁfﬂ:

(1)

(3081311415

In the long run, under perfect competition,

- which of the following condition(s) is/are

correct ?

(Iy TR =1C

(2)  Firms operate at minimum of AC

(3)  There is no incenuive for exit or entry of
the firms

(4) All of the above

i wfemfm W dewE # s ®

fefHes 9 4 3968 e w8 & 7

(1) IR = TC
(2) WH TFA9 IHA AR W IR
¥

(3) H F IaM W WM @ v @
e J# '
(4) I9gEa H

3 T.0.
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(ii) In monopoly price is :
(1) Umlorm
(2) Not uniform
(3) Both (1) and (2)
(4) None of the above
THIYFR H FH0E
(1) @9A ¥ %
(2) W9A AE EM 2
(3) (1) @ (2) =
4) sw W ¥ FE T
(iii) The concept of product differentiation was
developed by
(1) Mrs. Joan Robinson
(2) J. S. Bain
(3) Baumol
(4) Chamberlin
g favR #t v fawfen 1 W
(1) sfwil S" Wa=m § gr
(2) I W T F N
(3) W@ & gm
4) w=f & g

1-1415 4
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(iv) According 1o Ricardo, Fertility of land is :
(1) Original
(2)  Indestructible
(3) Both (1) and (2)
(4) None of the above
@l F smEm, e F 3IverE wlm #
(1) wifes
(2) AT
(G) (1) 3w () zF
4) IWH % | FE

(v)  Gross interest includes -
(1) Reward for risk
(2) Reward for management
(3) Reward for inconvenience
(4) All of the above 5x5=]
A AN § Wind ' § .
(1) wiEm 1 =
() Y F [N
(3) sfawmal & fou =R
(4) IWGF W

(b) Match the following :
(i) Two sellers (a) MRP x AR
(i1) Non-price (b) A short run

compelition phenomenon

(0814 1415 I3 P.T.O.
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(iii) VMP (c) Duopoly

(iv) Nommal Profit  (d) Cut-throat competition

(v)  Quasi Tent (¢) ARP = AW  5x1=5

frefafaa w1 foem sifem .

(i) = fawa (a) MRP » AR

(i) M-FHa (b) TF HeTHEAA
wfaatfn HTToT

(i) VMP (c) BT

(iv) HER TN (d) Ten T wfgEfE

(v) SWE @TmE () ARP = AW

(¢) Decfine the following :

(1)  What 1s verv short peniod ?

(i) What 1s Product Differentiation ?

(i11) Define Economic Rent.

frafafaa =1 it Fifse -

(i) @A Foas= A TR

s

(i) a4 fagz @8 Fwd ¥ 7

Ix2=6

2 -
o 7

(111) @nfew R w1 witamm d@fem

Unit I (313 1)

3. Define Market. Explain its main features.

16

wﬁqﬁwmﬁutmq@ﬁmmmw

IS |

1-1415 6
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4. What is Perfect Competition © Explam, how prce s
determined under perfect competition 16
T1 Wit =0 2 7 s w9 79 wiamfmm %
T FA TR fauif e 2 0

Unit 11 =78 11)

+ What do you mean by price discrimination ? How price
and output are dctermined under discriminating
monopoly ? 16
T v m | S o awem € famers TR
H FHA 3 TER A fwifm e ¢ 2

6. Define Monopoly. Explain the causes of monopoly

power. 16

THEER 1 sforram §ifaw | vl vie $ sl w5
= Ffsw )

Unit 11l 313 111)

7. What is meant by monopolistic competition ? How is
price determined under it ? 16
TR Wit § 7 afywg ¢ 7 T E e 49

- favif@m v & ?

8. What is an Oligopoly ? Explain its features. 16
TufFR 591 & 7 T9F] fassaisi &1 59 a0 |

(MO8 75)1..14158 7 P.T.O.
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Unit IV (FFTE 1V)

9. Explain the marginal productivity theory of wage

determination. 16

weRd fuir & d@iam Icssa fagm it =men Fifsw

10. Critically explain classical theory of interest. 16
N % WRERt fagr 1 SeeTEs e wife 1
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GSE/M-19 1401
ENGLISH (Compulsory)

+  Time : Three Hours] [Maximum Marks : 80
;  Note : All questions are compulsory.

. (a) Give phonetic transcription of any four of the
following words :

(1)  Lungs (i) Doze
(1) Bargain (iv) Servants
2 (v) Want (vi) Age
\ (vit1) Waming (viii) Income 4
Or

(For Blind Candidates Only)
Give meaning of any four words :

(1)  brood (1) gnm
(1) gape (iv) doom
(v) flare (vi) twig. 4
(b) Give antonyms as well as synonyms of any four
" words
(1) protest (1) joyous
‘ (1) inherited (iv) exactly
(v)  hurry (vi) Tarthful. 4
(3-08/1) 1-1401 P.T.O.
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2. (a) Answer any four of the followmg questions in o
word phrase/sentence cach -
(i)  Who is Bulu in Pigeons al Davbreak ”

(i1)  What did the narrator do while waiung foy

L]

the photographer °

(iii) Why was the journcy o difiicuit 7/ ’

{iv) Before partition, which place was the ‘whole
world' for Maann 7

(v) Where did the peasant plan to buy a bullock
from 7

(vi) Who lighted the panchlight in the end ”

(vii) Who did Gangu want to mary 7 '

(viii). What type or class of dog does the story
features 7 4

(b) Answer any six of the following quesitons in about

50 words each :

(i) How did the friendship between the dog and
the blind man begin 7

(i) How did the musicians behave that evening

(iii) Discuss the relevance of the title, *Pigeons at '
Daybreak’. .

(ivy) Why had Mr. Basu and his wife given up
clecping on the terrace long ago
L-1401 2
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.’ (v)  What duld the narrator say about his own
face 7
(vi)  What kind of landscape 1s portrayed in “The
Journey™’
(vii) Prior to partition, what did Maanyi think of
‘ Muslims
' (vin) How did the peasant lose the bullock he had
bought
(ix) How did Godhan Light the Panchlight 7 12
3. Answer any foee of the following questions in 150-200
words each
(i) Comment on the ending of the story, ‘Pigeons at
Daybreak’.
(ii)  What happened on the night when Tinula reached
her school after the winter vacation ?
(i) Give a character-sketch of Maany:
(iv) How did the peasant get cheated by an old Thug
. and his sons 7
(v) Justify the ttle of the story *Panchlight’.
' (vi) How &id Gangu defend s decision to marry
Gomu 7 21
(082 L-1401 3 P.T.0.
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.-
4. Do any nwenry as directed - .
(17 Get me some walter. (Idenufy the type of m:mcnc;:;
(1)  Whose book is this ? (Idenufy the type of sentence)
(1))  Ouch ! that really hurs !
(Identity the type ut'wmcncc;
(iv) He made me.. . (laugh/to laugh) .

(Choose the correct oplion)
(V) Isaw a......tree (falling/fall). )

(Choose the correct option)
(V1) i IS Injurious to health
(Smoking/to smoke) (Choose the correct option)

(vii) The teacher said, “He is a naughty boy."

(Choose the narration)
(viil) Mohan said to Radha, “What is vour name "

]
(Change the narration)
< (ix) come here little boy (Punctuate the sentence)

(x) what is your name (Punctuate the sentence)

(x1) we celebrate teachers dav. (Punctuate the sentence)

(xu) He.ooooovn, (was/were) elected President.
(Choose the correct option)
L]
(xil) ... ow(Do/Does) you prefer wca to office 7

(Choose the correct option)
(xiv) They.. ... . ..(were/was) playing
(Choose the correct opbof]
@
L-1401 4
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(xv) Who killed the bird 7 (Change the voice)

(xv1) Do not inform the police (Change the voice)
(xvii) Wash the car. (Change the voice)
(xviii) They have a nice car. (Change the voice)
(xix) 1 do not like milk. (Change to interrogative)
(xx) We won the game. (Change to exclamatorv)
(xxi) I like cotiee. (Change to negative)
(xxii) Our team..............., (be) weaning new dress

(Fill in the correct form of verb)
(xxii1) ..o .1 come In. (Fill appropriate model)
(xxiv) Zakir took me out to lunch. T went to see Zakir.
(Combine the sentences)

(xv)  You cannot reach the fan. Stand on a stool.

(Combine the sentences)
20

Do any seven as directed :
(i)  Everyone of m) friends arc an artist.
(Correct the sentence)

The price of petrol and diesel have gone up.

(11)
(Correct the sentence)
i) R ML.P. (Insert appropriate hnﬁclc}
[Inion (Insert appropriate Article)
L T | :
N > wmmm..........*.lh:: car in my neighbour. |
e " (Fill n suitable prcposmnm
r.T.0.
5
SRR
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(vi) They are sorry..................having disturbed you. !

(Fill in suitable preposition)

(vii) Go back. (Pick out the adverb)
(vin) Where is Raju ? (Pick out the adverb)
(ix) Varun iS......ceceeene than Raju (tall).

(Fill in proper adiective)
(Xx)  This boX 15.ccceevrennnnnn.. (big) than that.
(Fill in proper adjective)
7

Wnite a paragraphy in about 200 words on any one topic :
(i)  The person you dislike most.

(1) A Hockey Match.

(1)  Girls® Education.

(1v)  College Prize Distribution Function. 8 |

¥
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Roll No. veevirirerainenns werveens Total Pages : 04

GSE/M-19 1405
fe=i  (sfaE)
Time : Three Hours]| [Maximum Marks : 80
Hz ;. /A WA sFEE T

| faciefaa 760 § A feRd @ &1 awEn e wie,
(i) ﬁrm?ﬁﬁm&|m.fﬁaﬁ1m%l
ﬂ{ﬂ?‘ﬁ:ﬂﬂ’ﬂ“ﬂmﬂ!ﬁ?ﬁﬁjﬂ
Feam wn s T R TafEA W oFEa ¥ fEA,

= @ Wi 7 s !
Gi) waE ween § 1 g 3 omd F T mme

w [}

T % dTn wWa oW f, ™ ITHE W A
T ZAwE # YA SEdE T

(iii) T, qETH FE-HEwms FOFES W £ 11
mp s 3 fFm f@ oW oW A I A
Qﬁﬁﬂrﬁ?ﬁm‘r,fmﬁﬁaﬁmzﬁqhﬁ

i 3 fon ROH IR TR MW E ) FOAE
mowm e 2 T M FE 3 fF oA AG A W

(308 76) .- 1408 InT.O.
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(iv) AR F fom = wms s = A W afm
qﬁm;ﬁlhﬂﬁq?ﬁﬂﬂﬁmﬁfﬁﬁ#
ﬁa%lmwﬁq’{ﬁfrﬁ-mw%mmﬁ
HETE ¥ AR qesr f[m oo 3 aafefem
0 @ = 7z fgmm e 6%2=12

. yEE & wfe-fem w o s -
qen

quummgﬁﬁn*mrﬁmmﬂw&n
af!ﬁﬂ'{l 8

C 3 Tt w9 9 R oww e w3 o

TN 150 =1 " SifEn .

(1) YAl % FENsed T A fromi fqfe

(i) vam #1 3fe A yEEirE s w1 age
Fifqu |

(iii) YE=IEA TEF F OAME W AEEE i
feafa #1 ==z Fife o

(iv) m-ﬂﬂﬂmﬁmﬁ!ﬁﬁ'qﬂmﬁﬁ'ﬁ'
tfrefasm fag #Fifem

(v) mﬁﬁmﬁ'ﬁaﬁﬂﬁﬁmaﬂh‘ﬁmw'

(vi) Tfed A THTE 0 sEEfE F fREw w0 @
2 ca 0 4x4=16

1-1405 2
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4. F=fefms o 5 51 7= 21 v & 377 @ifam

(1) FF TR WEN W OTEW IEA 70 TH FA F

(i) T wfE FH T OTFED TER AT TA ES A
A Wgfma W owEe e |

o) fag Fifaw f& wiEwem = wfes &1 @o
M T

(iv) 'HA wfam A wfzm am smz=d @ faow R
7z 1' 3 wYq F] famn 9 wWe w90 8x2=16

frafafam weal 4 4 fo@sl & s W & SW

HIELE

(1) fraw morEm w #lya fzoom f&afge

(1) WWW'WWWI

(ni) Ha FEAUW F WG F Ieod FE o

(iv) FE FE F oAwe W femn fafae
5x2=10

o’

6, Frafafaa 9 7 f&=0 2 7w & IW A .

© (i) AV R TRMT ¥ S W We #e |
iy =@ v W wiwE feooil fafaw
(i) WFF M F W@ vfem w oSea Fifen |
() T fam #wEa § 7 vow oftvim dqen favraem

AT | Sx2=10

(08711405 3 rT.0.
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7. A FEfas wen ® s AfEu .
(i) I FE € 7
(i) W#ﬁmmmzﬁnﬂﬂm%?
(i) Ta ® Faa fFEd wE 7
(iv) Ttz 5w zfe 9 @98 Ffa 7 7
(v) Tamfas F AR FH O ?
(vi) Vi FUR § HEWq@ S &F 7 27
(vii) =l s w1 faem fem| gem 2
(viii) ot fafe & s #1 gEem tHe ' 7 1x8=8
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Roll No, Total Pages : 04

1411

GSE/M-18
HISTORY
Option (1)
History of India 600-1526 A.D.
Tme : Three Hours] [Maximum Marks : 80

Note © Attempt Five questions in all, selecting at least one

question from each Unit. Q. No. 1 is compulsory. For
Visually disabled, the part relating to explanatory note
will carry full marks.
WhGF TFE H FH H FH UH YA 99 §U, Fo 9
A F IW A | v wEm 1 afEe € ) e
il & fow wAf & fel ® W oAE A

1. Answer the following multiple choice questions :

frafeafan aefascdm woa & Im fsn .
(1) Who was the founder of Khalji Dynasty ?
(a) Jalaluddin Khalji  (b) Alauddin
(¢)  Mubarak Shah (d) None of these
AN A7 T OWNF FE 9 ?
(%) FEEH e () S
(A) ¥ARF e () 9 A F1¢ 77

(3-086) L-1411 PT.O,
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Vijay Nagar Ruler Krishna Dev Ray belongs to

1)

l (a)  Saluv Dynasty (b) Taluv Dynasty
(¢) Sangam (d) None of these
frem TR HER FWTEE T@ OF OWEROAT oo
(%) Hgd aa (a) T A7
(W) |TH () @ ® F T

(m) Bhakt Ravidas was o .

(a)  Nirgun Bhakt (b) Sagun Bhakt .
(c) Sufi (d) Jain

T aeE 9

(x) frm v () AW HF

(|) T (Z) ¥

(1v)  Who wrote Prnthvi Ry Raso™ 7
()  Banbhau (by Chandberdai
(¢)  Prithvi Ra (d) None of these
‘geams T faw feen 2
(&) amE (a) T=awm
(%) gyams () ™4 A/ FE T

(v)  In which year first Panipat Battle fought ?

(@) 1520 (b)y 1525

(c) 1526 (d) 1530

oETA w1 WeH e R ad @ om0

(31) 1520 () 1525

(H) 1526 () 1530 .

(vi) Sufi Muinuddin was a .
(a) Suhrawardi Sufi  (b) Chisti Sufi

(¢) Qadiri (d) None of these

T ORI d _

(%) FeTEEl qE (H}f?ﬂ’j‘fi‘?{q-?i” .

(|) Ffed (Z) 79 | T T
L1411 )
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(vii) Razia was the daughter of :

(a) Sultan Aibak (b) Sultan lltutmish
(c) Balban (d) None of these
= T oG
(#) TR T (7) FAA TG
(B) Toad (7) TH @[ FrE
(viii) In which year Sccond Battle of Tarain fought ?
(a) 1190 (b) 1191
(c) 1192 (d) 1195
uzs ® feim g f@w ad @z T 7
() 119 (a) 1191
(") 1192 (%) 1195 2x8=16
Unit I (3373 1)
“2. Write a critical note on Tri-Partics Struggle among
Pratiharas, Palas and Rashtrakutas. 16

wiaEn, Wd 3R 9 F 99 e T W Ses T
wa fafae |

3. Discuss the character and achievements of

Harshvardhan. 16
ia & Afd G Wwemel F 99 wifew |
Unit Il 31§ 11)
4. Describe the important invasions of Muhammad Ghori in
India. 16

yrA § e MO R WA STENT W oavi it |

(3-08/7) L-1411 3 P.T.O.
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%,  Throw light on the man causes of the downfall of the |,

Delhi Sultanate. _ 16
forell WETT F T ¥ GA WO W OWETA FEAC

Unit 111 &8 111)

6. Throw licht on the main features of Bhakti

Movement. 16

v s w1 qed A WO Ehe |
7. Write a critical note on Delln Sultanate Adminisirative

Institutions. 16
wm fafan |

Unit IV G&7E 1V)

8. On the Map of India show the extent of Alauddin Khalji's

Empire. Add a note also. 10+6
A & SEfaE W AEEEE el & Amna faam ®

:qﬁaﬂ | TH cre il fﬂ’fﬂn_ !

9,  On the Map of India, show the extent of Harsha's Empire
Add a note also. 16
R F AEEE W e F Hmnd famn Wm0 @
aa W fafan | .

L-1411 4 13,350
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GSE/M-19 1448
POLITICAL SCIENCE
Option |
Indian Politics

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all, sclecting one question
from each Unit. Q. No. 9 is compulsory. All questions
carry equal marks,

VEE T W UE WA U KU, w7 ute W &
IW AW | W wEn 9 wfEE ¢ e e
AF T OF

Unit I 3&13 1)

.. Discuss the Centre-State relations in India. 16
WA A F-T 'SR oA Fifag

2. Discuss the emerging trevels in Indian Federalism. 16
YReE HeER I € wghml @ avi Hifag |

Unit 7 (37§ 1)
3.  Discuss the composition and functions of Election
Commission in India. 16

mﬁﬁaﬁaﬂn%ma’nmﬂmaﬁﬁ@.

(3-09/11Y~1448 PTO
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Discuss the various determinants of voting behaviour in
India 16
Wﬁmﬂma'rfafﬁﬁ‘ﬁmaﬁﬁemmﬁq
Fifeu |

Unit 111 (3138 111)

5. Discuss the emerging trends in the Political Party System
in India. 16
MRA H TS 7 s o I ' WA w oA
EAE L

6. Define Pressure Group. Discuss tne role of pressure groups
in Indian Politics. 16
@ TYE @ YW FifE0 | WIEE TeEe WA
el F1 vfaw & avE Fe |

Unit IV (3&T3 1V)

7. Discuss the role of Caste in Indian Politics. 16 -

EE AT § A 1 fEE F avA FIE )

8. Discuss the emerging trends in Indian Politics. 16

T T I g wgfed w1 AvE wieg |
1-1448 )
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9.  Objective/Multiple Choice Questions

Unit V &2 V)
HII:]&

“The Indian Constitution 15 federal in structure but

(1)
unitary in spirit.”” Who said it 7
(a) K. M. Munshi (b) D. D. Basu
(c) M. N. Roy (d) Morris Jones
T wAME HEAE g 3 g €, A
TF W vewE £ ' g fE w7
(A) w TR T () 2. 2. Tq
(A) wH. vA. TF (z) @it ==

(i)  When the demand for State Aulonomy started 1n
India 7
(a) 1950 by 1967
(c) 1989 (d)y 2014
y ¥ TR @mad # o6 w4 O T
(31) 1950 . (q) 1567
(|) 1989 (z) 2014

(iii) What is the mimmum age for voting in India ?
(a) 25 Years (b) 20 Years ;
(¢) 18 Years (d) 35 Years ’ ‘
g § WaRR % fau S g #@m v |
(#) 25 @4 (a) 20 i |
(m) 18 = (%) 35 =

(3097120 - 1448 3 P.T.0.
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(iv)  Which article of the Constitution of India is related

to the Flection Commission 7!

(a) 226 (b) 324

(c) 352 (d) None of these
WAty WA F FEE R T smEm A
wfaE € 7

(HA) 226 (=) 324 .
(§) 352 (z) 7§ & wE TE

(v) How many polilical parties are recognised as
National Political Partics in India 7
(@) 3 (b) 10
(e) 7 (d) 5 :
grA W fF Tt Te @ U9 aedaas 39
F ¥Y H ®=@ OWE E 2 .
(#) 3 (2) 10
(W) 7 (%) 5

(vi) Which is not the objective of the pressure groups ?
(a) Voluntary membership
(b) To get political authonity
(c) Formal organisation
(d) None of the above
frefafaa 4 |/ $F W @@ T 1 IL¥T T t ?
(3) tfm® wEEm
(7) THAfTE \E W@ FE
(W) svafE |
() 399®W H R FE Ol

1448 4
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vii) How many languages are recognised by the

Constitution of India ?

(@ 12 (b) 18
(c) 22 (d) 25
YAg wfavA g feadt s 1 "= vwE #@
™ §?
(H) 12 (9) 18
(7)) 22 (%) 25
(viti) Which is the State religion of India ?
(a) Hindi * (b) Islam
(c) Jain (d) None of these
WA F T NH FEE €2
(7) fex (3) =W
(7) ¥ () @ ¥ # 6
09/13) - 1448 5 5 500
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